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Propo
rtiona

l

Reasoning

Ratio

Proportion Can you recall what 
these are??

Rate
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Rate: a comparison between two numbers 
with different units   

Proportion: a fractional statement 
of equality

between two ratios or rates

Ratio: a comparison between 
two numbers 

with the same units

60km/h

3     1
6     2
=

16
20­  can be written 2:5 or 2/5

­  fraction is popular for calculations
­  fraction form is also called a proportion
­  ex:  mixing oil 50:1
  

­  ex:  km/h; $/hr; $/100 g; words/min
­  also known as a rate of change

STEPS...
1.  Indicate the variable and set up the ratio.
2.  Use ratio to fill in value.
3.  Create equal proportions.
4.  Solve for the unknown
 

EXAMPLE #1:  

 Lisa will need 0.5L (500 mL)
 of oil with 25L of gasoline.SOLUTION?

1.  State the variable and Set up ratio.
2.  Fill in ratio
3.  Use ratio to create proportion.
4.  Solve for the unknown.

SOLUTION... 

1.  State the variable and Set up ratio or rate.
2.  Fill in rate
3.  Use rate to create proportion.
4.  Solve for the unknown.

SOLUTION... 
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...Hint...How many cups does the recipe make in total??

Calculate??? 

HOMEWORK:  P. 21 #1 ­ 9.
1.1 Build Your Skills Detailed Solutions.pdf
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The cost of one unit; a rate 
expressed as a fraction in 
which the denominator is 1.

The rate or cost for 
one item or unit.

EX:  Five MVHS T-shirts cost $40.  The unit price is :

$40.00
      5

$8.00=

EX:  Lay's chips can produce 
       25 000 bags of chips in a regular
       8 hour shift.  The unit rate is:

25 000
     8

= 3125 bags/hour

***  allows you to compare prices and determine the 'best buy'

Exampe #1:

Shoppers has a sale on Sunday where you can buy six 710 mL of 
pop for $1.99.  Calculate the unit price of 1 pop.
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Example 2: 
       Shortcake picks fresh strawberries at a U­pick farm 
in Derby.  If she fills a pint basket (0.5506 litres), it 
                     cost her $1.50.  If she fills a 4­litre ice cream pail, it 
                     will cost $10.00.  
                      Which size of container will give her a better buy?

COMPARISON SHOPPING...

Super Valu VS Sobey's VS  Costco

­  let's go online and check out their site / sales flyer!!!

HOMEWORK...

P. 26: Questions #1 ­ 7.
1.2 Build Your Skills Detailed Solutions.pdf

Warm up!!! Many big screen TV's have an 
aspect ratio of 16:9.  This means 
that for every 16 inches of width, 
the TV will be 9 inches high.  
Calculate the height of a TV that 
is 27 inches wide.

1.

2. The cost of a pack of 4 
hamburgers is $4.89, the cost of 
a pack of 12 buns is $1.29, and 
the cost of 24 slices of cheese is 
$3.69.  What is the cost of 5 
cheeseburgers?
(1 hamburger, 1 slice of cheese, 
and 1 bun)
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Many big screen TV's have an 
aspect ratio of 16:9.  This means 
that for every 16 inches of width, 
the TV will be 9 inches high.  
Calculate the height of a TV that 
is 27 inches wide.

1.

 width
height

x=height
16
 9

27
 x=

16x =
x =

The height of the TV would be 15.2 inches.

243
15.1875

2.
The cost of a pack of 4 
hamburgers is $4.89, the cost of 
a pack of 12 buns is $1.29, and 
the cost of 24 slices of cheese is 
$3.69.  What is the cost of 5 
cheeseburgers?
(1 hamburger, 1 slice of cheese, 
and 1 bun)

3.69
  24

1.29
 12

4.89
  4

Hamburger Bun Cheese

$1.22/h

One Burger: $1.22
  0.11
  0.15
 $1.48

Five cheeseburgers would cost $7.40.
$1.48 x 5 = $7.40

Five Burgers:$0.15/c$0.11/b

1.2225 0.1075 0.15375
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The difference between the amount
a dealer sells a product for and the 
amount he or she paid for it.

Percent means "out of 100"; a 
percentage is a ratio in which the 
denominator is 100.
The markup is usually a percent.

SUPPLY/DEMAND:
- demand rises...cost increases.
- demand falls (or over supplied)...cost decreases.

What's in a price???

­  $39.99 seems less expensive than $40.
­  price / 100 g rather than price / kg.
­  weekly payments rather than monthly.
 

EX:  The markup of the T­shirts is 25%.  If the cost of 
         making a T­shirt is $8, determine the selling price...

There are
 two ways

 to calculate the 
selling price.

Cost x Percent
$8.00 x 0.25

$2.00

Cost + Markup

1.

2.

OR

$8.00 + $2.00
$10.00

Cost x Percent
$8.00 x 1.25

$10.00
Includes 100% of the 
origninal price and 
the 25% mark up.

What else
 affects 

selling price??

Provincial Sales Tax

Goods and Services Tax

Harmonized Sales Tax

GST PST HST 

NS 15%

NB 13% 

NFLD  13% 

PEI 14 %
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Retail Buying

Sales Tax ­ Provincial (PST) / Goods & Servies (GST)
GST is 5 % (effective Jan. 1/2008)

http://www.cra­arc.gc.ca/tx/bsnss/tpcs/gst­tps/rts­eng.html

Find total cost...

Multiply by 1.13

Find the total cost (including HST) for each of the following...

Cost?

Cost? 

Cost?

Cost? 

Amount of tax? 

$26 554

Cost x Percent (tax)
$26 554 x 0.13
$3452.02

Cost + Tax

1.

2.

OR

$26 554 + $3452.02
$30 006.02

Cost x Percent
$26 554 x 1.13
$30 006.02

(NB, NFLD)
$26 554

Cost x Percent (GST tax)

$26 554 x 1.05

$27 881.70

1.

(two steps)

GST PST

$27 881.70 x 1.08

Cost with GST  x Percent (PST tax)

$30 112.24

http://www.cra-arc.gc.ca/tx/bsnss/tpcs/gst-tps/rts-eng.html
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Arlene purchases 
fabric at a wholesale 
price for her custom 
sewing business in 
Cavendish, PEI.

                  She pays $46.00/m.  
She charges a markup of 20% on the fabric.  
What will Arlene charge her clients per metre?

Arlene purchases 
fabric at a wholesale 
price for her custom 
sewing business in 
Cavendish, PEI.

                  She pays $46.00/m.  
She charges a markup of 20% on the fabric.  
What will Arlene charge her clients per metre?

Cost x Percent
$46.00 x 0.20

$9.20

Cost + Markup

1.

2.

OR

$46.00+ $9.20
$55.20

Cost x Percent
$46.00 x 1.20

$55.20
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HW: Page 32
 Questions 1 - 8

1.3 Build Your Skills Detailed Solutions.pdf

Ms. Ronan purchases an order of 
425 comic books for $700.00.  She 
plans to mark the price up by 90%.  
What will she charge her 
customers for one comic book?

WARM­UP...

SOLUTION...
Delete to reveal

Questions from the Homework???

1.3 Build Your Skills Detailed Solutions.pdf

click HERE to see 
detailed answers

(if needed)
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Common Discounts...

•  70 % off
•  save $30
•  BOGO
•  1/2 price

Copy these two notes...

This Way: That way:
Focus... How much is taken off? Focus... 

How much do you still have to pay?

$249.95 x 0.80
$

$

$

$249.95 ­ $49.99

$249.95 x 0.20
49.99

199.96

199.96

EXAMPLE:

1) Find the discount

2) Find the sale price

3) Add the tax

$199.96 x 1.15
$229.95

1) Find the sale price

1 ­ % (decimal)

2) Add the tax

$199.96 x 1.15
$229.95

SOLUTION...
Delete to reveal

SOLUTION...
Delete to reveal

$89.99
Regular Price

What percent did you pay?

What percent did you save?

$76.49 Sale Price

$76.49 Sale Price
$89.99 Regular Price

Amount Paid
Total Amount

Amount saved
Total Amount

$76.49
$89.99

0.85
85%

=

 $89.99
-$76.49
 $ 13.50 

$13.50
$89.99 = 0.15

15%

Copy these formulas...

x 100 %

x 100 %

SOLUTION...
Delete to reveal

Determine the rate of discount in each of the following...

Rate = 30 % Rate = 33 %

Rate = 70 %

Rate = 21 %
SOLUTION...

Delete to reveal

SOLUTION...
Delete to reveal

SOLUTION...
Delete to reveal

SOLUTION...
Delete to reveal
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HOMEWORK

Page 37   Questions 1 to 7.
1.4 Build Your Skills Detailed Solutions.pdf

Currency:The system of money a country uses.

­  exchange rates 
fluctuates day to day.
­  international trade 
depends on currency.
­  banks, travel agents, 
business owners, 
tourists must consider 
exchange rates.
­  may need to order in 
advance and fees are 
involved.
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Dollar

Euro
Yen
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Pound

Dollar

Franc
Pound
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Buying Rate

Selling Rate

The rate at which a 
currency exchange buys 
money from customers

The rate at which a 
currency exchange sells 
money to its customers

Exchange Rate
The price of one country's currency in 
terms of another nation's currency.
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EXAMPLE #1:
On a specific date, the selling rate for the 
Danish krone compared to the Canadian 
dollar is 0.221778.  How many kroner will 
you receive for $500.00 CAD?

Let's do a 
conversion...

Delete to reveal

On the same day as the previous example, the 
buying rate for kroner was 0.210778.  If, after 
purchasing your kroner, you decided not to go 
to Denmark and sold the kroner back to the 
bank, how much would you lose?

EXAMPLE #2:

LOSS:  500 ­ 475.20 = $24.80
Solution...

Delete to reveal

Discuss... Rates in Can. Dollars
[Bank BUYS your foreign money] [Bank SELLS you foreign money]

EXERCISE:  Use the table on page 45
 to answer the following questions.

(Solutions on the next slide)
1)  Calculate the amount of money you 
would receive in Canadian dollars if 
you sold 4500 shillings to the bank.

2)  Arnold is making a movie in 
Thailand, his travel allowance is 
$3000.  How much money will he 
have in the local currency for his 
expenses in Thailand.



Chp. 1 ­ Unit Pricing and Currency Exchange 2014.notebook

17

November 24, 2014

1)

2)

1.5 Build Your Skills Detailed Solutions.pdf

HOMEWORK:  Page 47  #1 ­ 7

Buying Rate

Selling Rate

The rate at which a 
currency exchange buys 
money from customers

The rate at which a 
currency exchange sells 
money to its customers

Exchange Rate
The price of one country's currency in 
terms of another nation's currency.
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The 'Toronto Stock Exchange'...TSX
http://www.investcom.com/forex/forex.htm

http://www.ctv.ca/business/

http://atlantic.ctv.ca/

http://www.theglobeandmail.com/globe­investor/

http://www.xe.com/currencycharts/?from=CAD&to=USD&view=1Y

On a specific date, the selling rate for the 
Danish krone compared to the Canadian 
dollar is 0.221778.  How many kroner will 
you receive for $500.00 CAD?

On the same day as the previous example, the 
buying rate for kroner was 0.210778.  If, after 
purchasing your kroner, you decided not to go 
to Denmark and sold the kroner back to the 
bank, how much would you lose?

Use the table on page 45
 to answer the following questions.

Calculate the amount of money you 
would receive in Canadian dollars if 
you sold 4500 shillings to the bank.

Arnold is making a movie in 
Thailand, his travel allowance is 
$3000.  How much money will he 
have in the local currency for his 
expenses in Thailand.

http://www.investcom.com/forex/forex.htm
http://www.ctv.ca/business/
http://atlantic.ctv.ca/
http://www.theglobeandmail.com/globe-investor/
http://www.xe.com/currencycharts/?from=CAD&to=USD&view=1Y
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Use the table on page 45
 to answer the following questions.

Calculate the amount of money you 
would receive in Canadian dollars if 
you sold 4500 shillings to the bank.

Use the table on page 45
 to answer the following questions.
Arnold is making a movie in 
Thailand, his travel allowance is 
$3000.  How much money will he 
have in the local currency for his 
expenses in Thailand.
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1.5 Build Your Skills Detailed Solutions.pdf

HOMEWORK:  Page 47  #1 ­ 7 Ready for the TEST???  HOMEWORK: Page 50 #1 - 9
Chapter 1 Unit Pricing and Currency Exchange ­ Practice Your Skills.pdf
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Section 1.1 Proportional Reasoning, Build Your Skills, p33–36 


Student Resource p21–22 


 


Build Your Skills 


 


1. To simplify, divide the numerator and denominator by 2 to get 4:1. 


Ways to write this ratio include the following. 


4 to 1 


4:1 
 


 
 


 


2.  
        


        
 


          


         
 


  


 
 


    


 
 


Multiply each side by the common denominator, 1x, or x. 


  
  


 
   


    


 
 x 


   


 
 


     


 
 


55x = 2000 
   


  
 


    


  
 


  
    


  
 


x = 36.36 minutes 


It will take the secretary 36 minutes, rounded to the nearest minute. 


 


3. Each truck has 4 tires, so 5 trucks have 20 tires. 


To rotate the tires on 5 trucks, use the following proportion. 
       


   
 


        


   
 


 


  
 


  


 
 


The common denominator is 15x. 


    
 


  
   


  


 
 15x 


   


  
 


    


 
 


4x = 300 
  


 
 


   


 
 


x = 
   


 
 


x = 75 


It would take 75 minutes to rotate the tires on 5 trucks. 


Alternatively, you can multiply 15 minutes (time for one truck) by 5 (the number of trucks) 


to get 75 minutes.  







To rotate 2 tires, divide the time for 4 tires in 2. 
  


 
             


It would take 7.5 minutes to rotate 2 tires. 


 


4. First, calculate what the salesperson sold in the first two days. 


6 + 4 = 10 tickets 


Next, calculate what she sold on the weekend. 


36 – 10 = 26 tickets 


Since she sold the same number of tickets on each day, calculate what was sold each day. 


2x = 26 
  


 
 


   


 
 


x = 
  


 
 


x = 13 tickets on each day 


Alternatively, since the salesperson sold 26 tickets in two days and an equal number of 


tickets were sold on each day, divide 26 by 2 to get 13 tickets sold on each day. 


The proportion of tickets sold on Saturday is 13:36. 


 


5. The ratio can be written as 
 


 
. 


Let s represent Siu’s height. 


Use the following proportion to solve for s. 
 


 
 


 


   
 


Since this is a fractional equation, multiply both sides by the lowest common denominator, 6 


multiplied by 145. 


        
 


 
   


 


   
         


    
 


 
   


 


   
     


    


 
 


    


   
 


725 = 6s 
   


 
 


  


 
 


121 = s 


To the nearest centimetre, Siu is 121 cm tall. 


 


6. To calculate the profits on 50 DVDs, use a fractional equation. 
        


        
 


 


       
 


    


   
 


 


  
 


The lowest common denominator is 200. 


    
    


   
   


 


  
     


2250 = 4x 







    


 
 


  


 
 


$637.50 = x 


The total profit on the sale of 50 DVDs is $637.50. 


Next, calculate the profit on 900 DVDs. 
    


   
 


 


   
 


The lowest common denominator is 1800. 


     
    


   
   


 


   
      


22 950 = 2x 
      


 
 


  


 
 


$11 475.00 = x 


The total profit on the sale of 900 DVDs is $11 475.00. 


Alternatively, students could find the profit on one DVD and then multiply the number of 


DVDs sold by this number. 
    


   
 


 


 
 


    
    


   
   


 


 
     


          
$12.75 = x 


$12.75 × 50 = $637.50 


$12.75 × 900 = $11 475.00 


 


7.  
      


    
 


      


    
 


The numerator, 15, has been multiplied by 5 to get 75. To keep the fractions equivalent, the 


denominator, 5, must also be multiplied by 5 to equal x. 


5 × 5 = 25 


x = 25 


For $75.00, the restaurant could buy 25 kg of olives. 


Calculate the cost to buy 20 kg of olives. 
  


 
 


 


  
 


The lowest common denominator is 20. 


   
  


 
   


 


  
    


   


 
 


   


  
 


60 = x 


It would cost $60.00 to buy 20 kg of olives. 


 


8. First, determine what the proportion is for each stain. 


3 Spanish oak:4 red mahogany 


3 + 4 = 7 







So, for Spanish oak, the ratio is 3:7. 


For red mahogany, it is 4:7. 


Let s = the amount of Spanish oak needed. 
 


 
  


 


  
 


The common denominator is 7 multiplied by 12, or 84. 


   
 


 
   


 


  
    


   


 
  


   


  
 


36 = 7s 
  


 
  


  


 
 


5.14 = s, rounded off 


Let r = the amount of red mahogany needed. 
 


 
  


 


  
 


Again, the common denominator is 84. 


   
 


 
   


 


  
    


   


 
  


   


  
 


48 = 7r 
  


 
  


  


 
 


6.86 = r, rounded off 


For 12 litres, the carpenter needs 6.86 L of red mahogany and 5.14 L of Spanish oak. 


 


Extend Your Thinking 


 


9. First, determine how long it would take the bullet train to travel the circumference of the 


Earth. 
 


  
  


 


      
 


The ratio 
 


  
 can be simplified to 


 


 
. 


 


 
  


 


      
 


The common denominator is 5 multiplied by 40 074. 


           
 


 
   


 


      
            


Each side of the equation can be simplified to give the following equation. 


40 074 = 5x 
      


 
  


  


 
 


8015 = x 


The bullet train could travel the circumference of the earth in 8015 minutes. 


Now, convert this to days. 







        


  
               


            


  
            


Both Keiko and Akira underestimated how fast the Shinkasen can go! 
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Section 1.2 Unit Price, Build Your Skills, p39–40 


Student Resource p26–27 


 


Build Your Skills 


 


1. 
        


  
        


The unit price of each sink is $87.75. 


 


2. Package A: 
      


 
          


Package B: 
      


  
          


Package C: 
      


  
          


Package C has the lowest unit cost. 


 


3.  
       


 
             


       


 
             


The first supplier has the lower cost per lock. When selecting a lock, you should also 


consider the quality of the locks, since you want them to be secure. 


 


4. a)  
      


 
             


      


 
             


b) 2 packages of 3 plus 1 package of 1? 


2($22.99) + $9.98 = $55.96 


Or 1 package of 3 plus two packages of 2? 


$22.99 + 2($15.49) = $53.97 


The best combination is to buy one package of 3 shirts and two packages of 2. 


 


5. a) First, convert everything to kilograms so all the denominator units are the same. 


500 g = 0.5 kg 


Now, calculate unit price. 
     


      
           


          
      


      
           







So, the second price is the best buy. 


b) Which combination will be the best price for 2.5 kg? 


Two of the second price plus one of the first? 


2($12.50) + $7.50 = $32.50 


Or 1 of the second price plus one of the third? 


$12.50 + $19.50 = $32.00 


(You can factor out buying mostly from the first option because it is the most expensive.) 


The best price for 2.5 kg of meat can be obtained by buying 1 kg at the second price and 1.5 


kg at the third. 


 


6. Convert the denominators to kg. 


250 g = 0.25 kg 


500 g = 0.5 kg 


Then calculate unit price. 
     


       
           


     


      
           


      


 
           


The last package of meat has the lowest unit price. Nonetheless, the other store has two unit 


prices that are lower than this, so it would be better to buy your meat at the other store. 


 


Extend Your Thinking 


 


7. There are a couple of ways to solve this problem. Here is one option. First, you need to 


figure out which kit has the lowest unit price so you can see which kit is the best value. First, 


calculate the price per worker each kit can cover. 


Kit 1: 
      


 
       


Kit 2: 
      


  
       


Kit 3: 
      


  
       


Kit 3 has the best unit value. How many does Jason need? 


First, divide the kits needed by the number of workers to see how many kits are needed. 
           


  
      


Then calculate how much these 3 kits would cost. 


3 × $70.50 = $211.50 


How many workers still need kits if Jason buys 3 of kit 3? 


First, calculate the maximum number of workers these 3 kits will cover. 


3 × 75 = 225 


Then, calculate how many workers still need to be covered by subtracting 225 workers 


(already covered by 3 of kit 3) from the total number of workers. 







250 − 225 = 25 


Kit 1: 
  


 
      


Calculate the total cost of these 3 kits. 


3 × $42.50 = $127.50 


Kit 2: 


One kit 2 will cover all 25 workers at a total cost of $58.25, which is a better buy than three 


of kit 1. 


Now, calculate the total cost. 


$211.50 (3 of kit 3) + $58.25 (1 of kit 2) = $269.75 


The least expensive combination is 3 large kits and 1 medium kit at a price of $269.75, 


before taxes. 
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Section 1.3 Setting a Price, Build Your Skills, p43–44 


Student Resource p32–33 


 


Build Your New Skills 


 


These solutions were worked out using the tax rates in effect at the time of publication and 


are included on p. 29 of the student book. 


 


1. As a percentage, the regular price plus the markup is 100% plus 60%, which equals 


160%. 


1.60 × $22.75 = $36.40 a shirt 


 


2. $49.95 + (2 × $129.95) = $309.85 


HST is 13%. 
  


   
      


0.13 × $309.85 = $40.28 


The total HST paid on the items is $40.28. 


$309.85 + $40.28 = $350.13 


The total cost of the items, including tax, is $350.13. 


 


3. $49.95 + $129.95 = $179.90 


As a percentage, the St. John’s price plus the markup is 100% plus 10%, which equals 110%. 


$179.90 × 1.10 = $197.89 


As a percentage, the PEI price with PST and GST is 100% plus 5% GST plus 10% PST, or 


115%. 


$197.89 × 1.15 = $227.57 


You would pay $227.57 for a hard hat and a pair of steel-toed boots in PEI. 


 


4. As a percentage, the regular price plus the markup is 100% plus 25%, or 125%. 


The sink: 


$89.95 × 1.25 = $112.44 


The bathtub: 


$639.95 × 1.25 = $799.94 


2 faucets: 


2 × $74.95 = $149.90 


$149.90 × 1.25 = $187.38 


Add to find the total she charged her customer, excluding tax. 


$112.44 + $799.94 + $187.38 = $1099.76 


 


5. a) 50 × $3.50 = $175.00 


175 × $3.99 = $698.25 


250 × $2.00 = $500.00 


$175.00 + $698.25 + $500.00 = $1373.25 


Her total income is $1373.25. 


b) 100 × $3.50 = $350.00 


100 × $2.00 = $200.00 


She receives $150.00 more income if she sells 100 quarts directly from her farm. Students 


may suggest that she would sell to a wholesaler because she may receive large orders from 







wholesalers or she may not be able to sell all her crop directly or at the farmers’ market. 


 


6. a) $2.50 × 1.15 = $2.88 


The new unit price would be $2.88. 


b) First, find the difference in price per person. 


$2.88 − $2.50 = $0.38 


Then, find the difference for 100 people. 


$0.38 × 100 = $38.00 


She would make $38.00. 


c) Student answers will vary but should show they have considered various options such as 


trying to source less expensive ingredients and supplies; making her portions per person 


smaller; or trying to find ways she can be more efficient with her time, including perhaps 


hiring a delivery person. 


 


7. Answers will vary but students may suggest discounts of as much as 50%, since that is a 


fairly common discount for out-of-season items. Students should recognize that Marie’s 


profits will be lower, but that some revenue is better than no revenue on those items. Marie’s 


reasoning would be that she has paid for these items and that it’s best if she tries to recover 


some of the money she spent. 


 


Extend Your Thinking 


 


8. First, convert kilograms to grams. 


10 kg × 1000 = 10 000 g 


Find the unit price per gram. 
       


        
           


Calculate the price for 250 g. 


250 g × $0.0175 = $4.38 


a) Student answers will vary but they should consider overhead costs such as the rent and 


utilities for the store; equipment costs such as a display fridge for the cheese and knives or 


other tools; materials for displaying, storing, and packaging the cheese such as plastic wrap; 


and staff time for stocking, cutting, and serving the cheese. 


b) $4.38 × 1.40 = $6.13 


It would cost $6.13 for 250 grams. 


c) Since the customer is getting a discount of 15%, they are paying 85% of the original price 


(100% − 15%). 


$6.13 × 0.85 = $5.21 


The price would be $5.21. 


d) Yes, you would still be making a gross profit. 


$5.21 − $4.38 = $0.83 


But you would also need to consider whether this smaller margin would cover your 


additional costs, as discussed in a). 





SMART Notebook




Section 1.4 On Sale!, Build Your Skills, p46–48 


Student Resource, p37–38 


 


Build Your New Skills 


1. a) Calculate the price of a package at half price by dividing by 2. 
     


 
                   


Calculate the cost of one package at full price and one package at half price. 


$5.89 + $2.95 = $8.84 


b) First, calculate the total regular price. 


2 × $5.89 = $11.78 


Then, calculate the difference between the regular cost and sale costs for the two packages. 


$11.78 − $8.84 = $2.94 


Finally, calculate the percentage. 
     


      
       


This can be rounded to 25%. 


This can also be done mentally: one package is 50% off so you are paying 75% of the total 


price on two packages. 


 


2. a) At Rémy’s store, the total price, including HST, can be found by adding 100% and 13%, 


converting to a decimal, and multiplying the price by 1.13. 


$49.95 × 1.13 = $56.44 


At Alain’s store, subtract the discount percent, 15%, from 100%, and convert to a decimal. 


Then multiply the price by 0.85 to find the sale price. 


$55.95 × 0.85 = $47.56 


Then, calculate the sale price plus HST. 


$47.56 × 1.13 = $53.74 


b) Alain is right—with the sale, the racquet at his store is less expensive. 


 


3. a) Calculate the cost of morning highlights. Convert 15% to a decimal and subtract that 


amount from the original price. 


$55.00 × 0.15 = $8.25 


$55.00 − $8.25 = $46.75 


Calculate the cost of mid-afternoon highlights. 


$55.00 − $5.00 = $50.00 


Morning appointments will get you the lowest price on highlighting. 


b) Answers will vary but students should offer reasons for their answers. For example, the 


discount will appeal more because it allows you to save more money, or the coupon will 


appeal more because you know immediately how much you are saving without having to do 


any calculations. The time of day the person is available will also affect his or her choice. 


 


4. First, calculate the roofer’s savings with a 20% discount. Convert 20% to a decimal. 


$27.50 × 0.20 = $5.50 


Calculate your cost of materials if he passes on 50% of his discount by dividing by 2. 
     


 
       


Your discount on a square metre is $2.75. 







$27.50 – $2.75 = $24.75 


Your cost for a square metre would be $24.75. 


$24.75/m2
 × 74 m2


 = $1831.50 


Calculate his hourly rate with a 5% discount. Convert 5% to a decimal. 


$36.00 × 0.05 = $1.80 


Find the total savings on labour for 16 hours. 


$1.80 × 16 = $28.80 


You would save $28.80 on labour. 


 


5. a) Calculate the total cost of 20 fans at each store. 


The first wholesaler offers 5% off $157.00. 


Calculate the cost of one fan with the discount. 


$157.00 × 0.95 = $149.15 


Then, calculate the cost with HST. 


$149.15 × 1.15 = $171.52 


Find the cost of 20 fans. 


$171.52 × 20 = $3430.45 


The second wholesaler charges $149.00 each for orders of 10 or more. Find the cost of one 


fan, with HST. 


$149.00 × 1.15 = $171.35 


Find the cost of twenty fans. 


$171.35 × 20 = $3427.00 


b) The second wholesaler offers a better buy. 


 


6. a) Calculate the percentage of markdown each item has been given. 


Print: 


$31.99 – $19.99 = $12.00 discount 
      


      
       


The discount is 38%, rounded to the nearest percent. 


CD: 


$24.95 − $21.99 = $2.96 discount 
     


      
      


The discount is 12%. 


Bow drill replica: 


$49.99 − $24.99 = $25.00 discount 
      


      
     


The discount is 50%. 


b) Add up all the discounts. 


$12.00 + $2.96 + $25.00 = $39.96 total savings 


Or you can calculate the total regular price. 


$31.99 + $24.95 + $49.99 = $106.93 


Calculate the total sale price. 


$19.99 + $21.99 + $24.99 = $66.97 


Find the total savings. 


$106.93 – $66.97 = $39.96 







The most money is saved on the bow drill replica. 


 


Extend Your Thinking 


 


7. a) HST is 15%. 


Calculate the regular price. 


$26.00/h × 55 h = $1430.00 


Add 15% to 100% of the total price to find 115%. Convert to a decimal and multiply. 


$1430.00 × 1.15 = $1644.50 


Calculate the discount price by subtracting 5% from 100% of the total price to find 95%. 


Convert to a decimal and multiply to find the discounted price. 


$26.00/h × 0.95 = $24.70/h 


Find the total discounted price before tax. 


$24.70/h × 55h = $1358.50 


Find the total price, including tax. 


$1358.50 × 1.15 = $1562.28 


Calculate the savings. 


$1644.50 − $1562.28 = $82.22 


Your total savings are $82.22. 


b) Similarly, calculate the second person’s savings. 


$26.00 × 60 × 1.15 = $1794.00 regular price 


$24.70 × 60 × 1.15 = $1704.30 discount price 


$1794.00 − $1704.30 = $89.70 


The total savings are $89.70. 


Then, calculate the difference in what you saved. 


$89.70 − $82.22 = $7.48 


The owners of the second house save $7.48 more than you do. 
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Section 1.5 Currency Exchange Rates, Build Your Skills, p53–54 


Student Resource, p47–48 


 


Build Your Skills 


 


1. You would choose the bank selling rate to buy these currencies. 


a) 1.644 814 


b) 0.133 451 


c) 0.019 360 


 


2. You would choose the bank buying rate to sell these currencies. 


a) 0.009 295 


b) 0.950 964 


c) 1.004 350 


 


3. Use bank buying rates because the bank is buying the currency from you. 


a) 4500.00 pesos × 0.083 443 = $375.49 CAD 


b) $25 000.00 Hong Kong × 0.128 451 = $3211.28 CAD 


c) 2200.00 euros × 1.580 814 = $3477.79 CAD 


d) 8545.00 Scottish pounds × 1.996 146 = $17 057.07 CAD 


 


4. Use the bank sell rate because the bank is selling the currency to you. 
            


         
          


Megan will have €729.57 in the local currency for her expenses in Germany. 


 


5. Use the bank selling rate because the bank is selling these currencies to you. 


a) 
           


         
               


b) 
           


         
               


c) 
           


         
                


d) 3702.00 kroner × 0.165 558 = $612.98 CAD 


She receives a lower amount back because bank buy and sell rates are different—the banks 


build in a profit margin for exchanging money. 


 


6. Chris is buying these currencies so he will pay the bank selling rate. 


Pebble Beach: 


$5000.00 × 1.038 650 = $5193.25 CAD 


St. Andrew’s: 


£8500.00 × 2.060 146 = $17 511.24 CAD 


Spring City Golf & Lake Resort: 


¥26 600.00 × 0.162 600 = $4325.16 CAD 


SAFRA Resort & Country Club: 


S$15 000.00 × 0.762 280 = $11 434.20 CAD 


Leopoldsdorf: 


€4000.00 × 1.644 814 = $6579.26 CAD 


 


Golf vacatIon 







Country Golf course Estimated funds 


needed 


Estimated funds needed in 


$CAD 


United 


States 


Pebble Beach US$5000.00 $5193.25 


Scotland St. Andrew’s £8500.00 $17 511.24 


China Spring City Golf & Lake 


Resort 


¥26 600.00 $4325.16 


Singapore SAFRA Resort & Country 


Club 


S$15 000.00 $11 434.20 


Austria Leopoldsdorf €4000.00 $6579.26 


 


Extend Your Thinking 


 


7. a) The answer to this question will depend on when the conversion website was accessed. 


$8.95 CAD = US$8.73 


(rate: 1 CAD = 0.975 229 USD) 


$8.95 CAD = A$9.39 


(rate: 1 CAD = 1.049 05 AUD) 


b) Use the bank buy rates for this question because you will be selling the vinegar abroad and 


thus receiving US or Australian dollars, which you will then convert to Canadian dollars. 


US: 


$8.95 + $1.00 = $9.95 


$9.95 / 1.004 350 = US$9.91 


Australia: 


$8.95 + $2.00 = $10.95 


$10.95 / 0.950 964 = A$11.51 


You would have to set the US price at $9.91 and the Australian price at $11.51. 
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Chapter 1 Unit Pricing and Currency Exchange, Practice Your New Skills, p55–57 


Student Resource, p50–51 


 


1. a) For the first part of this question, you can divide 80 by 2 to find 40 km in half an hour.  


For the second part of this question, you multiply 80 km by 2 to get 160 km, and then add the 


40 km from above to find 200 km in two-and-a-half hours. 


b) To find the amount of Canadian dollars for 10.00 euros, multiply the exchange rate by 10 


to get $15.90 CAD. 


 


2. Using proportional reasoning, the bakery would sell 300 loaves of white bread that day. 


 


3. a) 
  


 
 = 7.5 m/second 


b) 
     


  
            


rounded to the nearest cent. 


 


4. For the first part of this question, students should demonstrate that the answer is no. They 


can demonstrate this by converting both sides to a decimal or finding a common denominator 


to compare the fractions. 
 


 
   


 


 
 


 


 
   


 


  
 


 


 
   


 


  
 


These are not proportional. 


If you reduce an 8″ × 10″ photograph, you can make any proportion that is equivalent to 


8:10. For example, 4:5 or 2.5:3.125. 


 


5. a) 
     


     
 = $0.38/lb 


     


      
 = $0.30/lb 


The 20 lb bag is the better buy. 


b) You will want to consider the quality of the potatoes and the quantity that you can use. 


You would also consider the type of potato and perhaps whether it is organic or not. 


Students may offer a variety of answers. 


c) 
      


      
 = $0.20/lb  


This is the best buy but you will want to consider whether or not you will use 75 lbs of 


potatoes. 


 


6. Calculate the price at Krazy Krazy. 


$1299.99 − $300.00 = $999.99 


Calculate the price at Too Good To Be True. 


$1299.99 × 0.30 = $390.00 


$1299.99 − $390.00 = $909.99 


$909.99 × 1.13 = $1028.29 


Krazy Krazy offers the best deal. 


 







7. a) The simplest way to solve this problem is to realize that 1 cup of sugar is double the 


amount called for in the recipe, so you need to double the flour. 


2
 


 
           


 


 
      


 
 


 
                      


b) To make this simpler to solve, students may first want to convert the fractions of cups to a 


decimal. 


2
 


 
      = 2.5 cups 


 


 
      = 0.5 cups 


Flour: 
   


  
 


 


 
 


The common denominator is 12 multiplied by 8, or 96. 


   
   


  
   


 


 
    


   


  
 


   


 
 


Each side can be simplified by dividing the numerator by the denominator. 


20 = 12x 
  


  
 


   


  
 


1.666 = x 


Now, convert 1.666 back to a fraction to get 1 2/3 cups of flour. 


Sugar: 
   


  
 


 


 
 


   
   


  
   


 


 
    


  


  
 


   


 
 


4 = 12x 
 


  
 


   


  
 


0.333 = x 


Again, convert back to a fraction to get 1/3 cup of sugar. 


 


8. a) Let x be the number of Canadian dollars. 
       


 
 


     


     
 


       
       


 
   


     


     
        


1.59(500.00) = x 


$795.00 = x 


It will cost her $795.00 CAD to buy €500.00. 


b) $795.00 × 1.005 = $798.98 


The final cost is $798.98. 


 







9. First, calculate the total amount she spent in euros. 


15(€28.92) + 40(€9.95) = €831.80 


Then, determine the unit rate for 1 euro. 
     


       
 = 1.5437 


Multiply the unit rate by the total amount she spent. 


1.5437 × 831.80 = 1284.05 


The fabric cost $1284.05 CAD. 


 


10. a) Divide $30.00 by 3 to find $10.00/h. 


You have $1.50 unaccounted for, and $1.50 divided by 3 is $0.50. Add this to $10.00 to get 


$10.50/hr. 


b) Copy the following table or use a spreadsheet to make a table showing the number of 


hours versus dollars earned. 


Calculating earnings 
Hours  Dollars earned 


0  0 


1  $10.50 


2  $21.00 


3  $31.50 


4  $42.00 


5  $52.50 


To find the dollars earned, multiply the number of hours by the hourly rate. On a spreadsheet, 


students would use the following formulas. They can also use the ―edit—fill down‖ feature to 


carry the first formula down the table. 
Calculating earnings 


Hours  Dollars earned 


0  =A3×10.50 


1  =A4×10.50 


2  =A5×10.50 


3  =A6×10.50 


4  =A7×10.50 


5  =A8×10.50 


c) Students can plot this using pen and paper or, if using a spreadsheet, they can use the built-


in graphing tool and choose the scatter plot feature. Students should extend their original 


tables first so that they can then extend their graph to answer the following question. 







d) Student answers for this question will vary since they are reading their own graph, but the 


values they determine should be close to the following calculated values. 


3.5 hours worked: 


$10.50(3.5) = $36.75 


She will earn $36.75 for working 3.5 hours. 


12.5 hours worked: 


$10.50(12.5) = $131.25 


She will earn $131.25 for working 12.5 hours. 
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